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P3808 Q0 O [ACODOOOODODODO

ps:0O00dobboodbobuooobboobobooobobg

#include<iostream>
#include<iomanip>
#include<cstdio>
#include<algorithm>
#include<map>
#include<stack>
#include<queue>
#include<complex>
#include<cmath>
#include<cstring>
using namespace std;
const int maxn=1000005;
char s[maxn];

int cnt,chlmaxn![26],Count|[maxn!,fail[maxn/;
int nxt[maxn];
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void Insert
scanf("%s",s+1);
int len=strlen(s+1);

int rt=0;
int i=1;i<=len;++i
int t=s[il-'a';
Ichirt][t])chlrt][t]=++cnt;
rt=chlrt][t];

++Count|rt/;

queue<int> Q;
void Build AC
Q.push ;
1Q.empty
int x=Q.front();Q.pop();
int i=0;1<26;++i
chix]li
X
faillch[x]|[i]|=ch[faillx il;

Count/ch|faillx i nxt|[ch|x
nxtich[x][i]]=nxt[ch[faillx

Q.push(ch[x][i]);

chix]llil=ch[faillx i]l;

void Query
scanf("%s",s+1);
int len=strlen(s+1),rt=0;
int ans=0;
int i=1;i<=len;++i
int t=s[il-'a';
int a=ch[rt][t];
a
Countla)|==- ;
ans+=Countlal;
Countlal=-1;
a=nxtlal;

rt=chirt]t];
printf("%sd",ans);

int n;
int main
scanf("%d",&n) ;
int i=1;i<=n;++i)Insert();
Build AC();
Query();

il;

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

update: 2020-2021:teams:hotpot:ac
2020/08/26 ooo

15:44

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:hotpot:ac%E8%87 %AA%ES5%8A%A8%E6%IC%BA

0;

P3796 QU O JACODOOODOOODO

ps:0 00000000 oooobboooboooooobooobbuoooobooooonon

#include<algorithm>
#include<stack>
#include<ctime>
#include<cstring>
#include<cmath>
#include<iostream>
#include<iomanip>
#include<cstdio>
#include<queue>
using namespace std;
inline int read

int num=0,f=1;char x=getchar();

x<'0"'"|[x>"'9" x=="-")f=-1;x=getchar();
x>="'0"'&x<="9" ) {num=num*10+x-'0";x=getchar();
num*f;

const int maxn=75*155;
char s[1000005];
bool strimaxn!;
int chimaxn![26]1,cnt,fail[maxn];
int prtimaxn!,nxtimaxn];
int unil[maxn];
char alp[maxn];
int n;
void Insert(int bh
scanf("%s",s);
int len=strlen(s);
int x=0;
int i=0;i<len;++i
int t=s[il-'a';
Ichix] [t
chix][t]=++cnt;
prticnti=x;alplcnti=s/i];

x=ch[x][t];
str|x|=true;uni|x|=bh;
queue<int> Q;
void build ac

Q.push(0);
Q.size
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int x=Q.front();Q.pop();
int i=0;1i<26;++i
chix]|[1i
X
faillch|[x|[i]]=ch[faillx il;
strich[faillx i nxtlch(x][i]]=ch[fail[x i
nxtlchix][i]|]=nxt[ch[fail[x ill;

Q.push(ch[x][i]);
chix][il=ch[faillx il;

typedef pair<int,int> pr;
vector<pr> ans;
int MAX,num[maxn];
void gans
scanf("%s",s);
int len=strlen(s);
int x=0;
int i=0;i<len;++i
int t=s[i]-'a';
int nw=ch[x]|[t];
nw
strinw! )++num|/nw/;
num| nw|==MAX)ans.push back(pr(uniinw!,nw));
num| nw | >MAX
MAX=num|/nw|;ans.clear();
ans.push back(pr(unilnw!|,nw));

nw=nxt|[nw];

x=ch[x]|[t];

void write(int x
I'x ;
write(prt(x]);
printf("%sc",alp[x]);

void Print
printf(“%sd\n",MAX);
sort(ans.begin(),ans.end ;
auto x:ans
write(x.second);

puts ;

void clear
MAX=cnt=0;
memset (str,0,sizeof str);
memset(ch,0,sizeof ch);
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memset(fail,0,sizeof fail);
memset (nxt,0,sizeof nxt);
memset (num,0,sizeof num);
memset (prt,0,sizeof prt);
ans.clear();

int main
true

clear();
n=read( ) ;

I'n R

int i=1;i<=n;++i)Insert(i);
build ac();
//cout<<'a'<<endl;
gans();
Print();

0;

P5357 0 0JACODOODOODOOOO

ps:00000000000DOC0O00DOtie0D0OOCOOODODOO

#include<algorithm>
#include<stack>
#include<ctime>
#include<cstring>
#include<cmath>
#include<iostream>
#include<iomanip>
#include<cstdio>
#include<queue>
using namespace std;
inline int read

int num=0,f=1;char x=getchar();

x<'0'||x>'9" x=="'-"')f=-1;x=getchar();
x>="'0"'&x<="9" ) {num=num*10+x-'0"'; x=getchar();
num*f;

const int maxn=200005;

char s[maxn*10];

bool strimaxn!;

int chimaxn![26],cnt,fail[maxn];

int nxt[maxn],uni[maxn];

int n;

void Insert(int bh
scanf("%s",s);
int len=strlen(s);
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int x=0;
int i=0;i<len;++i
int t=s[il-'a';
Ichix][t])chix][t]=++cnt;
x=ch[x][t];

str{x|=true;uni/bh|=x;

queue<int> Q;
void build ac
Q.push ;
Q.size
int x=Q.front();Q.pop();
int 1=0;1<26;++1
chix][i
X
faillchlx![i]l=ch
strich[faillx
nxtlchix][1i

Q.push(ch[x][1i]);
chix][il=ch[faillx

int num/maxn];

void gans
scanf("%s",s);
int len=strlen(s);
int x=0;

int i=0;i<len;++i
int t=s[i]-'a';
int nw=ch[x]|[t];
nw
strinw!)++num|nw
nw=nxt|nw];

’

x=ch[x][t];
int main
n=read();
int i=1l;i<=n;++i)Insert(i);
build ac();
gans();

fail[x il;

i

i

nxt|ch|x

=nxt[ch[faillx

int i=1;i<=n;++i)printf("%sd\n",num/uni i

.
’

’

i

ch

.
’

faillx

i
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